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41.  What translates |P address into address resolution
BCA h I ddress into | (2) add luti
(SEM.VI) BCA-6002 MAC addres:s?. . protocol
INNTERNET OF THINGS (1)  organizationally  unique
identifier
(2) address resolution
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53. Which challenge comes when | (2) security
Q.66.RISC stands for : (1) reduced instruction we use many devices on the
(1) reduced instruction set set computer same network?
computer (1) Signaling
(2) rare information set (2)  Security .
(3) presence detection
computer (4) power consumption
(3) reduce information set
computer 92. Most IOT problems are addressed | (2) ip
; ; at layer.
4) LiﬁpUte:nstructlon set @ top @ in
(3 api (4 udp
Q.67.CISC stands for : : . (1) complex instruction 99. Which is the software or a | (4) None of the
(1) complex instruction set set computer programming language used for language  mention
Computer controlling of Arduino? above
(2) common instruction set (1) assembly language
computer 2) _clanguages
(8) complex information set (3) java
computer 4) None o{) the language
(4) common information set mention above

computer

92. The antenna in single UAV system | (1) Omnidirectional
s
(1) Omnidirectional
(2) Directional
(3) Bidirectional
(4) None of the above
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12. specifies the | (1) callback
function that will be called when
a successful re-connection is
completed.
(1) callback (2) error
(3) connect (4) reconnect




